?é{ % % @ Kéx Aritmetik for exponenter (negativa exponenter)

narmn: Datum: Poing:
(47 +1= (=5 = (-2) =
9% +(—6) = (-7 +1=
6" +(—8) = 8—10=
40D 110 = (-3)" = (-6) =
72 | = 16D _g =
(=9)7) +(-8) = 1 +(=5) =
(-3)" +(-3) = DTVl =
4 +(-9) = (-7)* +3=
(2" - (4= (-3)"+2=
STVH (D = D"~ (9=
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@{ X%X % @ k% Aritmetik for exponenter (negativa exponenter)

namn: Datum: Poéng:
. 9 4
(42 +1=17 ()" - ()=5=1g
9% +(—6) = 75 (—=7)* +1=50
6> + (—8) = 28 8§—10=(-2)
40 1 10="2L = ot 0 =
4 4 (=3)" - (6 =7
70D — 1 = (—j—g 1D g = (~7)
. 73 1
(-9 +(-8) = (=5) = (83) 1? +(=5) = (-4)
(-9)° +(-3)= (-2) DT +1=0
£ +(=9) =17 (-7 +3=52
. 7 1
(D - (H=5=3;5 (-3)°+2=3
5D 4 -]y = (2 0
DH=03) -1’ =(-9) =10
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